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HOW RAIN NRIL$ AND FALLS 

A cloud never f a l l s  a l l  the way to, the e a r t h  because cloud p a r t i c l e s  a re  so 

minute t h a t  air r e s i s t a n c e  allows them t o  s e t t l e  only very slowly. 

held  a l o f t  by r i s i n g  air  c u r r e n t s  o r  e l s e  evaporate a f t e r  f a l l i n g  a s h o r t  dis t&ce.  

A l a rge  ra indrop  conta ins  as much water as 8,000,000 average cloud d r o p l e t s  and 

W i l l  f a l l  200 times as fast .  

Often they a r e  

How does a cloud produce drops b i g  enough t o  fall! 

In  h i s  b o k  on nFogs and Clouds“, j u s t  published, D r .  W.J.Humphreys exp la ins  

how ra indrops are formed. When condensation starts i n  a r i s i n g ,  cool ing a i r  

cu r ren t ,  t he re  a r e  at f i rs t  count less  d u s t  p a r t i c l e s  present ,  many of them ready 

0x1 s l i g h t  provocation t o  serve as n u c l e i  f o r  d r o p l e t s .  A cloud of many f ine  drop- 

l e t s  t he re fo re  forms as soon as the cool ing  reduces t h e  temperature t o  j u s t  under 

the dewpoint. To a c e r t a i n  ex ten t  t h i s  cloud s e t t l e s ,  and f i l t e r s  the  r i s i n g  air 

which passes  up through it. Now when condensation cont inues i n  the l e s s  dus ty  

f i l t e r e d  air, the  drops  a r e  fewer and l a r g e r  and a l s o  grow more r a p i d l y  because 

there are fewer nuc le i .  

heavy enough t o  f a l l  aga ins t  the  r i s i n g  current .”  

“p resen t ly  t h e l a r g e r  ’ d r o p l e t s  coalesce and thus become 
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